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Q.2 (Sdegrees)

Find the total capacity ceded to a Q.S. treaty ( 7 , -‘E;E ) if you have the
following data :

Policy 1 2 3 4 5 6
Limits{ LE) 3,000,000 400,000 15,000 000 270,000 600.000 1,500,000
Rate (%) 9 . 45 12 8 12 9.25
Loss TI. Nil 35% 80% 48 % 500,000
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-* Mecnofia University
Faculty of Commerce
English Scction — Year Two
Final Exam-First term  Date: 25 /12/2014
Subject :Corporations Accounting  Time: 2 hours

Answer the following questions:

Question 1 (4 grades, 30 minutes)

Tanta Corporation has the following stockholders' equity accounts on January 1, 2013:

8 001 110 Common Stock, $10 par value
[O0B00 ccomman et Paid-in Capial in Excess of Par
00000 ..o A AT ... Retained Farnings
$1.500,000 ..o R —————— . Total Stockholders' Equity

I'he company uses the cost method Lo account for treasury stock wansactions, During 2013, the following
treasury stock transactions occurred:

April 1 Purchased 30,000 shares at §16 per share.

August 1 Sold 10,000 sharcs at $18 per sharc.

October 1 Sold 12,000 shares at $12 per share.
Required: A: Journalive the ircasury stock transactions for 2013,
13: prepare the Stockholders' Equity section of the balance sheet, assuming that the pet income
was 100,000 for 2013,
Question 4 (4 grades, 25 minutes)

During 2009, Banha Corporation had the following transactions:

Jan 1 Declared a $1 cash dividend per share to stockholders of record on February 15.
payable March 1.

Mar. 1 Paid the dividends declared in January.

April 1 Announced a 2-for- [ stock split, the market price per share was S.;x(:.

July 1 Declared a 10% stock dividend o stockholders of record on duly 15,

disuibutable July 37. On July 1, the market price of the stock was $13 per share.

Julv 31 lssued the shares for the stock dividend.

Dee. | declared a $0.50 per share dividend to stockholders of record on December

15. pavable January 2010,
Dec. 31 Determined that net income {or the year was $350,000.

Required: journalize the transactions and the closing entry for the net income {Note: the corporation had.
on January 1. 2069, common stock: $20 par value, 60,000 shares issued and outstanding).




Question 3 (4 grades, 35 minutes)

AzAhram Company reported retained carnings at December 31,2012, of $310.000. Ahram had 160,000
shares ol common stock outstanding throughout 2012,

The following transactions occurred during 2012,

I-An ereor was discovered in 2011, depreciation expense was recorded at $60.000, bul the correet
amonnt was $50.000.

2-A cash dividend of 50.50 per share was declared and paid.

3-A 5% stock dividend was declared and distributed when the market price per share was $15 per

share

4-Net income was $225.000.

Instructions: Preparc a retained camings statement for 2012,

B:Prepare (B1): A 2011 income statement for Menofia Corporation based on the following information:

$490.000 Cost of goods sold

100,000 Opcrating expenses

30.000 Other expenses and losses

700,000 Sales

30% Tax rate

200.000 Average common stockholders' cquily for Menofia Corporation

(B2) Compute Menofia Corporation’s return on common stockholders’ equity for 201 1.
Question 4 (3 grades, 30 minutes)

The stockholders” equby gection of Samy Corparation at Drece 31, 2000 i fuded the full owme

o pretened stk S pa valve, commlative,
Litiknr shares anthonzed. S.o00 <laes igoed and outgandme K ATR RN

Common gtock. $1 par value. 2300040 shareg aviborized
LG dhares ssued and oufstandong B2 AN 0

Dhvadends were not dedared on the preferted stock w 2009 and a1e m hyeass

o Sepfember L350 26100 the bond of dnectors of Sany Comparation declared divadends oi fhe
pretened Stock for ikt and 2oli o stockholders of tecord o October 120lu pavable on
Cober 13

i Nevember Lo2ufi the board of duechors declared a $ 75 per dhoae divrdend on fhe common
stock, payvable November M 2000, to sockhelders of 1ecord on November 13 2010

Instrudtions
Frepme the jomual enbies that should be made by Samy o porateon on the dates mdic ated belov
Seplembier 15, 2010 November b 2010
- Ociober | 1uld Novembsey 15 20
cctober 15 2000 Nuverber 344, 20010

With the best wishes, Mohamed Wahdan, Phi




Menoufiya University first Semester 2014/2015

Faculty of Commerce Course: ;Analvtical Economijcs 28d year
Department of Economics Final Exam (two pages)
English Branch Time: 2 hours------ Test date: TU: Dec 30,2014

Ans! the followin stions:

The first

estion arks

The following table shows the consumption(C) and investment (|), when income levels{Y)

(million $):
Y |0 1000 2000 3000 4000 5000 | 6000 7000 8000
C | 800 1600 2400 3200 | 4000 | 4800 | 5600 6400 7200
| | 400 400 400 400 400 400 | 400 400 400

Find: 1 - Aggregate Demand. 2 - Consumption Function. 3 - Saving function.

4 - Multiplier 5 - Equilibrium level of income, with a graphic itustration.

The sec

uestl . rks) :Explain the differe tween each of the:

1- Low of Diminishing returns, Returns to scale.

2- Nominal GDP ,Real GDP

The third question (2.5 marks) Choose the correct answer only.

{1) The production function specifies which of the following:

A)
B)
C)
D)

Relates doilar inputs to dollar outputs.

Indicates the best way to combine oufputs in the marketplace.

Indicates the best level of oufput to produce.

Describes a relationship between inputs and output in a production process.

—



)]

{2) Which of the foilowing is the term usad to describe an additlon to a 'nétlon's capltal
stock ?
a. inflation . ¢. neminal GDP,

b. real GDP., d. investment.

(3) The marginal product of labor is the:
A} Output which it could produce unaided b y machinery or other factors of production.
B) Extra revenue which a firm will get by selling the output of one additional worker.

C) Amount of extra output that is produced when one extra worker is added fo a fixed amount
 of other factors.

D) Amount of extra output that is produced when cne worker is added and other

(4) Personal saving as a percent of disposable income Is called:
a- Inflation. ¢. The personal saving rate.
b. Investment. d. None of the above.

(5) If you hire an additlonal worker for your farm and you don’t buy more land or tools, which of
the following would explaln why this worker's marginal product is less:

A) Law of farming. C) Law of diminishing returns,
B) Law of production function D) Law of economics.,

The fourth guestion ( 5 marks)

Explain the following with detall, with a graphic illustration:

, 1- Extreme Cases of Demand Elasticity.

2- Consumer surplus (CS) for a market.

With yl’i?t’wbhes
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Menofia University

Faculty of Commerce End Term Exam (2015)
Business Administration Dept. Level 2
Course: Production &Operations Mgt. Time: 2 hours

Prof. Dr. Ahmed El-Lehleh

Answer the following guestions :

Q1: Explain why do you “Agree “or “Disagree “with the following statements:

(5 Marks)

1- Operations managers are responsible for assessing consumer wants and needs and setling and
promoting the arganization’s goods or services.

2 - Goods producing organizations are not involved Ip service activitics.
3 - Strategy includes both organizational and functional strategics.

4 - Forecasting technigues generally assume an existing causal system that will continue o exist in
the future.

5 - Effective capacity is the minimum output rate an operation , process or facility is designed for .

Q2: Write short notes on the following topics: (5 Marks )
a) Why some organizations fail.

b) What does product & service design do?
Q3: Solve the following problem: (5 marks)

Develop a forecast for the next period, given the data below, using a
linear trend equation
Period ; Demand
I 15
2 30
3 45
4 60
5 75

Best Wishes




Menofya University Insurance Final Term Exam ( 2 Hrs. )

Faculty of Commerce English Sec. 2™ year 13/1/2015

Q.1) ( 2.5degree)
Build a L / D table between age 36 and age 40
Q.2) (5degrees) -

Find the total capacity ceded to a Q.S. treaty ( ? , ?:c',? ) if you have the
following data : 8

Policy 1 2 3 4 5 6
Limits (LE) 3,000,000 400,000 15,000,000 270,000 600,000 1,500,000
Rate (%) 9 4.5 12 8 12 9.25
Loss TL Nil 35% 80% 48% 500,000

Q. 3) (5 points x 1.5 degree = 7.5 degrees )

a) Why we need " Definitions Part " in insurance contract ?
b) How " Law of Large numbers " works for the benefits of insurance co, ?
¢) " Rate Making " refers to the pricing of insurance . Explain .

‘d) Reinsurance is .......... . Complete .

¢) The Insurance Contract must meet 4 requirements, why and what are these 4

M



Minoufia University
Faculty of Commerce

Subject: Mathematics of Finance First-Term Exam 2014/2015
Second Year Time 2Hs

Answer the following questions:

1- The following is an annual statement for a saving account.on 31/12/2014 with bank which gives
interest rate 12% p.a. on the saving account, complete the statement and compute the balance?

No Date Particular Movement Balance
Debt Credit
1 01/07/2014 | Balance 2555
| 2 18/01/2014 | Deposit 3000
3 04/02/2014 | Withdrawal 2500
4 12/04/2014 | Deposit : 4500
5 23/07/2014 | Deposit 6000
[ 03/08/2014 | Withdrawal 5250
7 09/10/2014 | Withdrawal 1250
8 15/11/2014 | Deposit 7000
9 3171272014 | Imterest | iiieee envabsr. | swanaisas

2 - A person has LE25000 in a saving account. If he make 12 half yearly equal withdrawals from
his saving account at the end of each 6 months. What is the size of withdrawals to close his
seving account using:

«)- Interest rate 6% compounded half yearly  b)-Simple interest rate 7%

3 . A person owes three debts, first debt amount of LE 5000 due in 2 years and 2 months, second
debt amount of LE 7000 due in 3 years and 4 months, third debt amount of LE 3000 due in
5 years and 2 months. The debtor agrees io settle his obligations with twe equal payments, first
due after 4 years and 8 months and second after 6 years. Compute the size of payments if the
rate of setflement is:
a)- 9% Simple discount b)- 12% compounded monthly.

4~ A family buys a LE 2000000 home with o LE 500000 down payment. The remainder is financed
with a loan which be repaid bver next 15 years with equal monthly payments. After making 144th
payment, they sell the house, how much of the loan they have paid off? If the interest rate is:
a)- 16% compounded monthly b}- 18% simple interest.

Good luck.




Minoufiya University
Faculty of Commerce
The English Section End Term Exam (Jan 2015)
Course: Supply Management
Time: 2 Hours

First Question: {5 Marks) Explain why do you Agree or Disagree with the
following statements: o

1- Successful supply chain Mmanagement requires the effective and efficient management of a
portfolio of relationships.

N

- outsourcing should be used for ali materials when suppliers are available,
3 Desire to integrate plant operations is a key consideration that favour buying specific items.

4- The selection ot bidding or negotiation should be based on subjective measures and supply
management logic.

5- Supply base reduction is achieved through increasing both variety and consolidation.

Second Question: (4 Via rks} Supply management application: _

Suppose that you have been appointed as a supply manager for X¥Z CO. for electronics, and
you have been assigned the task of evaluating four potential suppliers of 8 inch touch screen
colour LCD panels for a handheld paliet style computer, the touch-screen capability enables the
user to work with the computer without a mouse or a keyboard. The panels are expected to be
of exceptional quality with extra high resolution, The forecasted demand for the first year
would be approximately 1 million monitors with growth of 20% per year over the next 3 years.
Ta maintain a uniform quality, the company wants to use a single source, as far gs possible.

Required:

1 How would you evaiuate the 4 potential suppliers.,

2- What procedures/steps would you use or how would you conduct your anatysis of each
supplier?

3. What selection criteria would you implement?

4- What are the berwefa‘ts.of using single sourcing?

Third Question: (6 Marks):

Write short notes on the following topics:
1- Transactional relationships characteristics.
2- Approaches for developing balanced specifications.
3- Dangers of outsourcing.

Best Wishes
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